

### Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: May 2, 2023

Progress Estimate 5	Number	Contract ID Prime Contracto	220520-H03 r Magruder Pavir		Pay Period Start Pay Period End	April 16 May 1,		Original Contract Amount Net Change Order Amount Current Contract Amount	\$8,754,427.35 (\$52,241.90) \$8,702,185.45	
Approval Date									By User	
May 2, 2023	Generated and Approved (and should be considered Draft) at the Project Office Leve									
May 2, 2023		Resident Engineer Level by	granaj1							
May 3, 2023		ce Controllers Office Level by	ramses1							
Original Completio	n Date	Current Con	npletion Date	Actu	ıal Completion D	ate	% of Current Contract Amou	ontract Amount Complete		
November 1, 20	23	Novembe	er 1, 2023				7.75%			
	Contract	Informational Dat	es		Miles	stones				
Date Description	Original	Completion Date	Current Complet	ion Date	No Milestones I	Exist for	Contrac	t		
Acceptance Date										
Awarded Date	June 2, 2	022	June 2, 2022							
Letting Date	May 20, 2	2022	May 20, 2022							
Notice to Proceed Date August 1,		2022	August 1, 2022							
Open to Traffic Date										
Work Began Date	27, 2023	February 27, 2023	3							

Contract Total Pay For Estimate No. 5										
		This Estimate	Previous	To Date						
220520-H03										
	Total Posted Items Pay	\$190,510.50	\$483,565.00	\$674,075.50						
	Gross Item Adjustments	(\$16,065.00)	(\$25,168.50)	(\$41,233.50)						
	Incentive	\$0.00	\$0.00	\$0.00						
	Disincentive	\$0.00	\$0.00	\$0.00						
	Liquidated Damage	\$0.00	\$0.00	\$0.00						
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00						
	•	•	\$458,396.50	\$632,842.00						
<b>Contract Total Pay</b>	able This Estimate:	\$174,445.50								

## Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount			
J9P3435	0100	100 6131010 FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL SQYD \$255.000 4 DEPTH PAVEMENT REPAIR								
	0120	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	EA	\$10.000	1,060	\$10,600.00			
Project J9	P3435 - To	otal					\$126,650.50			
J9P3564	0350	2159903	MISC.Modified Shaping Slopes, Class III	LF	\$9.000	80	\$720.00			
	0430	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	SQYD	\$295.000	154	\$45,430.00			
	0450	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	EA	\$10.000	260	\$2,600.00			
	0670	6061080	MGS END ANCHOR	EA	\$1,400.000	1	\$1,400.00			
	0680	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	EA	\$3,000.000	1	\$3,000.00			
	5201	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	LF	\$35.700	300	\$10,710.00			
Project J9P3564 - Total										
Overall - Total										

## Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

Line Item	ine Item Adjustments This Estimate												
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount					
J9P3435	0020	MISC.	Overrun		Averaged Price Adjustment from this item on	-80	\$9.00	(\$720.00)					

Revision 3/23/2023 Page 1 of 12



## Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: May 2, 2023

Progress Estimate Number	Contract ID	220520-H03	Pay Period Start	April 16, 2023	Original Contract Amount	\$8,754,427.35
5	Prime Contractor	Magruder Paving, LLC	Pay Period End	May 1, 2023	Net Change Order Amount Current Contract Amount	(\$52,241.90) \$8.702.185.45

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J9P3435					all previous payment estimates of '0.00000' is applied (if non-zero).			
	0020	MISC.	Overrun		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0002) due to user granaj1 overridding Payment Estimate Exception 8 on the current Payment Estimate.	80	\$9.00	\$720.00
	0100	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	Material			-698.1	\$255.00	(\$178,015.50)
	0100	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0009) due to user granaj1 overridding Payment Estimate Exception 4 on the current Payment Estimate.	698.1	\$255.00	\$178,015.50
	0320	MGS END ANCHOR	Overrun		Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).	-1	\$1,400.00	(\$1,400.00)
	0320	MGS END ANCHOR	Overrun		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0003) due to user granaj1 overridding Payment Estimate Exception 9 on the current Payment Estimate.	1	\$1,400.00	\$1,400.00
	0330	TYPE A CRASHWORTHY END TERMINAL (MASH)	Overrun		Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).	-1	\$3,000.00	(\$3,000.00)
	0330	TYPE A CRASHWORTHY END TERMINAL (MASH)	Overrun		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0004) due to user granaj1 overridding Payment Estimate Exception 10 on the current Payment Estimate.	1	\$3,000.00	\$3,000.00
	5101	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	Material			-5,380	\$35.70	(\$192,066.00)
	5101	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0010) due to user granaj1 overridding Payment Estimate Exception 2 on the current Payment Estimate.	5,380	\$35.70	\$192,066.00
J9P3564	0350	MISC.	Overrun			-80	\$9.00	(\$720.00)
	0350	MISC.	Overrun		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0001) due to user granaj1 overridding Payment Estimate Exception 7 on the current Payment Estimate.	80	\$9.00	\$720.00
	0430	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	Material			-154	\$295.00	(\$45,430.00)
	0430	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0008) due to user granaj1 overridding Payment Estimate Exception 3 on the current Payment Estimate.	154	\$295.00	\$45,430.00
	5201	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	Overrun			-300	\$35.70	(\$10,710.00)
	5201	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN.	Overrun		Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is	-150	\$35.70	(\$5,355.00)

Revision 3/23/2023 Page 2 of 12



## Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: May 2, 2023

Progr	ess Es	timate Number 5	Contract ID Prime Conf		520-H03 ruder Paving,	LLC Pay Period End May 1, 2023 Net C	nal Contract A hange Order nt Contract A	Amount (\$	8,754,427.35 52,241.90) 8,702,185.45
Project Number	Line No.	Item Description Adjustment Type Other Item Adjustment Type  Adjustment Type					Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J9P3564			SPACING			applied (if non-zero).			
	5201	MGS GUARE POSTS,	ORAIL, 8 FT. 6 FT 3 IN. SPACING	Material			-3,900	\$35.70	(\$139,230.00)
	5201	MGS GUARE POSTS,	DRAIL, 8 FT. 6 FT 3 IN. SPACING	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0007) due to user granaj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	,	\$35.70	\$139,230.00
Total									(\$16,065.00)

Revision 3/23/2023 Page 3 of 12



## Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

						Contract Project Information	1					
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work							
J9P3435	FAF 67-3(141)	Coldmill and resurface	67	ST FRANCOIS	from Rte. 221 in Farmir	ngton to 0.5 mile south of Ri	te. 72 near Fredericktown					
J9P3564	FAF 67-2(57)	Coldmill and resurface	67	MADISON	on various sections nor 303 near Lodi	n various sections northbound and southbound from 1.8 miles south of Rte. A near Cherokee Pass to 0.1 mile south of County 03 near Lodi						
Totals by Job Numbers												
J9P3435		d Item Pay Item Adjustme		Item Pay	This Estimate \$126,650.50 \$0.00 <b>\$126,650.50</b>	Previous \$324,597.00 (\$25,168.50) \$299,428.50	To Date \$451,247.50 (\$25,168.50) \$426,079.00					
					\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00					
J9P3564		d Item Pay Item Adjustme		Item Pay	This Estimate \$63,860.00 (\$16,065.00) \$47,795.00	Previous \$158,968.00 \$0.00 \$158,968.00	To Date \$222,828.00 (\$16,065.00) \$206,763.00					
					\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00					

Revision 3/23/2023 Page 4 of 12



## Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

## **Exceptions (Discrepancies) This Estimate Period**

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J9P3564, Item 6061061, Project Item Line Number 5201, Material Set 606106196, Material 1065DE - Delineators, Acceptance Action Generic 1065DE is insufficient.	Contractor is submitting the PAL	granaj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3435, Item 6061061, Project Item Line Number 5101, Material Set 606106196, Material 1065DE - Delineators, Acceptance Action Generic 1065DE is insufficient.	Contractor is submitting the PAL	granaj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3564, Item 6131010, Project Item Line Number 0430, Material Set 613101096, Material 1015EASS1 - Emulsified Asphalt SS-1, Acceptance Action Generic AspEmulsion is insufficient.	Waiting on TSI to enter the sample records	granaj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3435, Item 6131010, Project Item Line Number 0100, Material Set 613101096, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO, Acceptance Action Generic 100510CPCMLD is insufficient.	Waiting on TSI to enter the sample records	granaj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3435, Item 6131010, Project Item Line Number 0100, Material Set 613101096, Material 1015EASS1 - Emulsified Asphalt SS-1, Acceptance Action Generic AspEmulsion is insufficient.	No Remark was entered by Engineer	granaj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3435, Item 6131010, Project Item Line Number 0100, Material Set 613101096, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	No Remark was entered by Engineer	granaj1	Overridden
Estimate Exception Type: Item Overrun: Contract 220520-H03, Contract Project J9P3564, Project Item Line Number 0350, Contract Line Item Number 0350, Item 2159903, Minor Item.	On next change order	granaj1	Overridden
Estimate Exception Type: Item Overrun: Contract 220520-H03, Contract Project J9P3435, Project Item Line Number 0020, Contract Line Item Number 0020, Item 2159903, Minor Item.	On next change order	granaj1	Overridden
Estimate Exception Type: Item Overrun: Contract 220520-H03, Contract Project J9P3435, Project Item Line Number 0320, Contract Line Item Number 0320, Item 6061080, Minor Item.	On next change order	granaj1	Overridden
Estimate Exception Type: Item Overrun: Contract 220520-H03, Contract Project J9P3435, Project Item Line Number 0330, Contract Line Item Number 0330, Item 6063014, Minor Item.	On next change order	granaj1	Overridden
Estimate Exception Type: Item Overrun: Contract 220520-H03, Contract Project J9P3564, Project Item Line Number 5201, Contract Line Item Number 5201, Item 6061061, Minor Item.	On next change order	granaj1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 220520-H03, Contract Project J9P3435, Project Item Line Number 5101, Contract Line Item Number 5101, Item 6061061, Minor Item.	On next change order	granaj1	Acknowledged

Revision 3/23/2023 Page 5 of 12



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	eport Generated date and can differ from the posted am Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
220520-H03	J9P3435	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$18,000.00	\$0.00
		0001	0020	2159903	MISC.Modified Shaping Slopes, Class III	880.00	0.00	880.00	LF	960.00	\$9.00	\$8,640.00
		0001	0030	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	21,467.00	0.00	21,467.00	TONS	0.00	\$60.22	\$0.00
		0001	0040	4030003	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	29,982.80	0.00	29,982.80	TONS	0.00	\$67.01	\$0.00
		0001	0050	4031057	ASPHALT PERFORMANCE TESTING REPORTING	1.00	0.00	1.00	LS	0.00	\$10,000.00	\$0.00
		0001	0060	4031058	INTELLIGENT COMPACTION	1.00	-1.00	0.00	LS	0.00	\$41,895.68	\$0.00
		0001	0070	4031059	PAVER-MOUNTED THERMAL PROFILES	1.00	-1.00	0.00	LS	0.00	\$15,000.00	\$0.00
		0001	0080	4071005	TACK COAT	44,414.00	0.00	44,414.00	GAL	0.00	\$2.99	\$0.00
		0001	0090	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	6.00	0.00	6.00	EA	0.00	\$1,000.00	\$0.00
		0001	0100	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	1,113.70	0.00	1,113.70	SQYD	698.10	\$255.00	\$178,015.50
		0001	0110	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK) (PAVEMENT REPAIR)	1,113.00	0.00	1,113.00	SQYD	0.00	\$8.00	\$0.00
		0001	0120	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	2,260.00	0.00	2,260.00	EA	1,540.00	\$10.00	\$15,400.00
		0001	0130	6131017	DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR	1,130.00	0.00	1,130.00	EA	0.00	\$10.00	\$0.00
		0001	0140	6161005	CONSTRUCTION SIGNS	1,531.00	0.00	1,531.00	SQFT	396.00	\$6.00	\$2,376.00
		0001	0150	6161025	CHANNELIZER (TRIM LINE)	280.00	0.00	280.00	EA	30.00	\$20.00	\$600.00
		0001	0160	6161030	TYPE III MOVEABLE BARRICADE	12.00	0.00	12.00	EA	0.00	\$125.00	\$0.00
		0001	0170	6161033	DIRECTIONAL INDICATOR BARRICADE	20.00	0.00	20.00	EA	9.00	\$50.00	\$450.00
		0001	0180	6161040	FLASHING ARROW PANEL	4.00	0.00	4.00	EA	1.00	\$900.00	\$900.00
		0001	0190	6162004	TEMPORARY SHORT-TERM RUMBLE STRIPS	8.00	0.00	8.00	EA	0.00	\$2,000.00	\$0.00
		0001	0200	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.00	\$141,530.00	\$0.00
		0001	0210	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	392.00	0.00	392.00	LF	0.00	\$18.00	\$0.00
		0001	0220	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	1.00	0.00	1.00	EA	0.00	\$500.00	\$0.00
		0001	0230	6200030	PREFORMED THERMOPLASTIC PAVEMENT MARKING, WORD (ONLY)	1.00	0.00	1.00	EA	0.00	\$500.00	\$0.00
		0001	0240	6205902A	$6\mbox{IN}.$ WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	117,375.00	0.00	117,375.00	LF	0.00	\$0.26	\$0.00
		0001	0250	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	90,958.00	0.00	90,958.00	LF	0.00	\$0.26	\$0.00
		0001	0260	6206108A	$\boldsymbol{8}$ IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	1,485.00	0.00	1,485.00	LF	0.00	\$1.00	\$0.00
		0001	0270	6209901	MISC.Temporary Pavement Marking Paint	1.00	0.00	1.00	LS	0.00	\$29,500.00	\$0.00
		0001	0280	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	483,578.00	0.00	483,578.00	SQYD	0.00	\$1.54	\$0.00
		0001	0290	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	35,557.00	0.00	35,557.00	SQYD	0.00	\$1.54	\$0.00
		0001	0300	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	3,168.20	0.00	3,168.20	STA	0.00	\$18.04	\$0.00
		0010	0310	6061060	MGS GUARDRAIL	4,675.00	-4,675.00	0.00	LF	0.00	\$30.00	\$0.00
		0010	0320	6061080	MGS END ANCHOR	11.00	0.00	11.00	EA	12.00	\$1,400.00	\$16,800.00
		0010	0330	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	11.00	0.00	11.00	EA	12.00	\$3,000.00	\$36,000.00
		0010	5101	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	0.00	4,675.00	4,675.00	LF	5,380.00	\$35.70	\$192,066.00
					ate as of Report Generated Date		0.00					\$451,247.50
	J9P3564	0001	0340	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$14,000.00	\$0.00
		0001	0350	2159903	MISC.Modified Shaping Slopes, Class III	480.00	0.00	480.00	LF	560.00	\$9.00	\$5,040.00
		0001	0360	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	7,081.70	0.00	7,081.70	TONS	0.00	\$67.17	\$0.00
		0001	0370	4030003	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	26,001.70	0.00	26,001.70	TONS	0.00	\$72.83	\$0.00
		0001	0380	4031057	ASPHALT PERFORMANCE TESTING REPORTING	1.00	0.00	1.00	LS	0.00	\$6,000.00	\$0.00
		0001	0390	4031058	INTELLIGENT COMPACTION	1.00	-1.00	0.00	LS	0.00	\$36,658.72	\$0.00
		0001	0400	4031059	PAVER-MOUNTED THERMAL PROFILES	1.00	-1.00	0.00	LS	0.00	\$5,000.00	\$0.00
		0001	0410	4071005	TACK COAT	27,489.00	0.00	27,489.00	GAL	0.00	\$2.99	\$0.00
		0001	0420	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	6.00	0.00	6.00	EA	0.00	\$1,000.00	\$0.00

Revision 3/23/2023 Page 6 of 12



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract m.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
20520-H03	J9P3564	0001	0430	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	223.90	0.00	223.90	SQYD	154.00	\$295.00	\$45,430.00
		0001	0440	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK) (PAVEMENT REPAIR)	224.00	0.00	224.00	SQYD	0.00	\$8.00	\$0.00
		0001	0450	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	280.00	0.00	280.00	EA	260.00	\$10.00	\$2,600.00
		0001	0460	6131017	DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR	140.00	0.00	140.00	EA	0.00	\$10.00	\$0.00
		0001	0470	6161005	CONSTRUCTION SIGNS	1,531.00	0.00	1,531.00	SQFT	388.00	\$6.00	\$2,328.00
		0001	0480	6161025	CHANNELIZER (TRIM LINE)	280.00	0.00	280.00	EA	20.00	\$20.00	\$400.00
		0001	0490	6161030	TYPE III MOVEABLE BARRICADE	12.00	0.00	12.00	EA	0.00	\$125.00	\$0.00
		0001	0500	6161033	DIRECTIONAL INDICATOR BARRICADE	20.00	0.00	20.00	EA	10.00	\$50.00	\$500.00
		0001	0510	6161040	FLASHING ARROW PANEL	4.00	0.00	4.00	EA	1.00	\$900.00	\$900.00
		0001	0520	6162004	TEMPORARY SHORT-TERM RUMBLE STRIPS	8.00	0.00	8.00	EA	0.00	\$2,000.00	\$0.00
		0001	0530	6181000	MOBILIZATION	0.00	\$70,130.00	\$0.00				
		0001	0540	6200018	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	4,085.00	0.00	4,085.00	LF	0.00	\$18.00	\$0.00
		0001	0550	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	2.00	0.00	2.00	EA	0.00	\$300.00	\$0.00
		0001	0560	6200042	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE, YIELD LINE TRIANGLES	208.00	0.00	208.00	EA	0.00	\$75.00	\$0.00
		0001	0570	6205902A							\$0.25	\$0.00
	0001		0580	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	104,431.00	0.00	104,431.00	LF	0.00	\$0.25	\$0.00
		0001	0590	6207001	PAVEMENT MARKING REMOVAL	11,800.00	0.00	11,800.00	LF	0.00	\$1.00	\$0.00
		0001	0600	6207002	PAVEMENT MARKING REMOVAL (SYMBOLS)	234.00	0.00	234.00	EA	0.00	\$65.00	\$0.00
		0001	0610	6209901	MISC.Temporary Pavement Marking Paint	1.00	0.00	1.00	LS	0.00	\$31,402.56	\$0.00
		0001	0620	6209902	MISC.Modified Preformed Thermoplastic Pavement Marking Turn Arrow	26.00	0.00	26.00	EA	0.00	\$400.00	\$0.00
		0001	0630	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	222,901.00	0.00	222,901.00	SQYD	0.00	\$2.02	\$0.00
		0001	0640	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	28,246.00	0.00	28,246.00	SQYD	0.00	\$2.03	\$0.00
		0001	0650	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	1,248.00	0.00	1,248.00	STA	0.00	\$18.03	\$0.00
		0010	0660	6061060	MGS GUARDRAIL	3,450.00	-3,450.00	0.00	LF	0.00	\$30.00	\$0.00
		0010	0670	6061080	MGS END ANCHOR	6.00	0.00	6.00	EA	6.00	\$1,400.00	\$8,400.00
		0010	0680	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	6.00	0.00	6.00	EA	6.00	\$3,000.00	\$18,000.00
		0010	5201	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	0.00	3,450.00	3,450.00	LF	3,900.00	\$35.70	\$139,230.00
	Project J	9P3564 - To	otal Value	Posted to D	ate as of Report Generated Date							\$222,828.00
20520-H03 Ove	rall - Total	Value Post	ted to Da	te as of Repo	ort Generated Date							\$674,075.50

Page 7 of 12 Revision 3/23/2023



## Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

#### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J9P3435

Line Number	Item Code	Description	DWR Date	DWR Approval	Quantity	Units	Location	From Station/	Offset/Distance	To Station/	Offset/Distance	Comments
Number	Code		Date	Date				Log Mile		Log		
0100	6131010	FURN & PLACE CONC MATL FOR FULL DEPTH	4/17/23	5/2/23	62.00	SQYD	Log Mile 110.565 Log Mile 110.634 Log Mile 111.058 Log Mile 111.078 Log Mile 111.326 Log Mile 111.326 Log Mile 111.327					
			4/20/23	5/2/23	48.00	SQYD	Log 97.773 Log 97.851 Log 98.928 Log 90.284 Log 100.794					Subtracting 13 SY for a previous over run at Log Mile 109.165.
			4/24/23	5/2/23	45.00	SQYD	Log 104.852, 104.871, 105.125, 105.306, 105.930, 106.309					
			4/25/23	5/2/23	49.00	SQYD	Log 107.381, 107.682, 107.810, 107.833, 107.890, 107.985					
			4/26/23	5/2/23	116.00	SQYD	Log 107.710 6X12 Log 106.000 6X12 Log 110.08 6X12 Log 111.078 6XX12 Log 111.128 6YX12 Log 111.128 6YX12 Log 111.128 6YX12 Log 111.28 19XX12 Log 111.830 YYX12 Log 111.830 YYX12 Log 111.821 YXX12 Log 111.221 6YXX12 Log 112.221 6XX12 Log 112.221 6XX12 Log 112.221 6XX12 Log 112.231 6XX12 Log 112.231 6XX12 Log 112.735 6XX12 Log 112.735 6XX12 Log 112.735 6XX12 Log 112.735 6XX12					
			4/28/23	5/2/23	56.00	SQYD	Log 102.192 6X12' Log 103.0053 51'0'X12' Log 103.101 58'X12' Log 103.125 69'X12' Log 103.145 48'X12' Log 103.214 61'0'X12' Log 103.214 61'0'X12'					
				5/2/23	79.10	SQYD	LM 108 150 LM 108 214 LM 108 224 LM 108 532 LM 108 904 LM 109 162 LM 109 412 LM 110 530 LM 110 533 LM 110 565 LM 110 565					
0120	6131015	DOWEL BAR (DRILLING, FURNISHING AND INST	4/17/23	5/2/23	140.00	EA	Log Mile 110.565 Log Mile 110.634 Log Mile 111.058 Log Mile 111.078 Log Mile 111.325 Log Mile 111.325 Log Mile 111.974					
			4/20/23	5/2/23	80.00	EA	Log 97.773 Log 97.851 Log 98.928 Log 99.284 Log 100.794					Subtracting 20 bars for a previous over run at Log Mile 109.165.
			4/24/23	5/2/23	120.00	EA	Log 104.852, 104.871, 105.125, 105.306, 105.930, 106.309					
			4/25/23	5/2/23	120.00	EA	Log 107.381, 107.682, 107.810, 107.833, 107.890, 107.985					
			4/26/23	5/2/23	260.00	EA	Log 107.710 6X12 Log 106.000 6X12 Log 110.08 6X12 Log 111.078 6XX12 Log 111.128 6YX12 Log 111.128 6YX12 Log 111.128 6YX12 Log 111.28 6YX12 Log 111.28 15X12 Log 111.24 14X12 Log 112.21 6YX12 Log 112.21 6YX12 Log 112.22 6XX12 Log 112.24 15XX12 Log 112.24 15XX12 Log 112.24 15XX12 Log 112.25 6XX12 Log 112.75 6XX12 Log 112.75 6XX12 Log 112.75 6XX12 Log 112.75 6XX12 Log 112.85 15X12					
			4/28/23	5/2/23	140.00	EA	Log 102.192 67X12* Log 103.063 510"X12* Log 103.063 570"X12* Log 103.101 578"X12* Log 103.125 679"X12* Log 103.125 679"X12* Log 103.214 610"X12* Log 103.214 610"X12* Log 104.725 672"X12*					
			5/1/23	5/2/23	200.00	EA	LM 108.150 LM 108.214 LM 108.215 LM 108.305 LM 108.305 LM 108.505 LM 108.412 LM 101.530 LM 110.533 LM 110.565 LM 110.665					

Project: J9P3564

Line	Item	Description	DWR	DWR	Quantity	Units	Location	From	Offset/	To	Offset/	Comments
lumber	Code		Date	Approval Date				Station/ Log Mile	Distance	Station/ Log Mile	Distance	
0350	2159903	MISC. SHAPING SLOPES	4/20/23	5/2/23	80.00	LF	NB 67 Log Mile 128.990					
0430	6131010	FURN & PLACE CONC MATL FOR FULL DEPTH	4/18/23	5/2/23	146.00	SQYD	Log Mile - 120.731,120.846,122.077,122.093,122.196,122.205,122.330,122.607,122.638,122.730,122.747,123.624					
			4/19/23	5/2/23	8.00	SQYD	Log 127.729					
0450	6131015	DOWEL BAR (DRILLING, FURNISHING AND INST	4/18/23	5/2/23	240.00	EA	Log Mile - 120.731,120.846,122.077,122.093,122.196,122.205,122.330,122.607,122.638,122.730,122.747,123.624					
			4/19/23	5/2/23	20.00	EA	Log 127.279					
0670	6061080	MGS END ANCHOR	4/20/23	5/2/23	1.00	EA	NB 67 Log Mile 128.990					
0680	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	4/20/23	5/2/23	1.00	EA	NB 67 Log Mile 128.990					
5201	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN	4/20/23	5/2/23	300.00	LF	NB 67 Log Mile 128.990					

The information below this line are details for Construction Signs (if applicable). No Data Available

Revision 3/23/2023 Page 8 of 12



## Line Item Adjustments by Estimate

Contract ID: 220520-H03

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J9P3435	0020	MISC. SHAPING SLOPES	Overrun	Overrun	3	Apr 3, 2023	SYSTEM	\$720.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user granaj1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					3	Apr 3, 2023	SYSTEM	(\$720.00)	
					4	Apr 17, 2023	SYSTEM	(\$720.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					4	Apr 18, 2023	SYSTEM	\$720.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user granaj1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					5	May 2, 2023	SYSTEM	(\$720.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
						5	May 2, 2023	SYSTEM	\$720.00
				Overrun - To	otal			\$0.00	Example Exception 6 of the cultoff aymon Example.
			Overrun - To	otal				\$0.00	
	0020 -	Total						\$0.00	
	0100		Material		4	Apr 18, 2023	SYSTEM	\$61,965.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user granaj1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
		DEPTH			4	Apr 17, 2023	SYSTEM	(\$61,965.00)	
					5	May 2, 2023	SYSTEM	\$178,015.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user granaj1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					5	May 2, 2023	SYSTEM	(\$178,015.50)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0100 -	Total						\$0.00	
	0120	DOWEL BAR (DRILLING, FURNISHING AND INST	Material		4	Apr 18, 2023	SYSTEM	\$4,800.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user granaj1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					4	Apr 17, 2023	SYSTEM	(\$4,800.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0120 -	Total						\$0.00	
	0140	CONSTRUCTION SIGNS	Material		1	Mar 3, 2023	SYSTEM	\$936.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user granaj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
						Mar 3, 2023	SYSTEM	(\$936.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0140 -	Total						\$0.00	
	0180	FLASHING ARROW PANEL	Material	ial	2	Mar 16, 2023	SYSTEM	\$900.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user granaj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					2	Mar 16, 2023	SYSTEM	(\$900.00)	
				- Total					
			Material - To	otal				\$0.00	
	0180 -	Total						\$0.00	
	0320	MGS END ANCHOR		Overrun	3	Apr 3, 2023	SYSTEM	\$1,400.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user granaj1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					3	Apr 3, 2023	SYSTEM	(\$1,400.00)	
					4	Apr 17, 2023	SYSTEM	(\$1,400.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).



## Line Item Adjustments by Estimate

Contract ID: 220520-H03

	Line 0320	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created	Amount	Remarks
J9P3435 0.	0320			Type			Ву		
		MGS END ANCHOR	Overrun	Overrun	4	Apr 18, 2023	SYSTEM	\$1,400.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user granaj1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					5	May 2, 2023	SYSTEM	(\$1,400.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					5	May 2, 2023	SYSTEM	\$1,400.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user granaj1 overridding Payment Estimate Exception 9 on the current Payment Estimate.
				Overrun - To	otal			\$0.00	
			Overrun - To	otal	- Control of the Cont			\$0.00	
0	0320 -	Total	-					\$0.00	
	0330	TYPE A CRASHWORTHY END TERMINAL	Overrun	Overrun	3	Apr 3, 2023	SYSTEM	\$3,000.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user granaj1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
		(MASH)			3	Apr 3, 2023	SYSTEM	(\$3,000.00)	Established Established Control Contro
					4	Apr 17, 2023	SYSTEM	(\$3,000.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					4	Apr 18, 2023	SYSTEM	\$3,000.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user granaj1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
					5	May 2, 2023	SYSTEM	(\$3,000.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					5	May 2, 2023	SYSTEM	\$3,000.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user granaj1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
				Overrun - Total				\$0.00	
			Overrun - Total					\$0.00	
0	0330 -	Total						\$0.00	
5	5101	MGS GUARDRAIL, 8 FT. POSTS, 6 FT. - 3 IN	Material		3	Apr 3, 2023	SYSTEM	\$192,066.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user granaj 1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					3	Apr 3, 2023	SYSTEM	(\$192,066.00)	
					4	Apr 18, 2023	SYSTEM	\$192,066.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user granaj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					4	Apr 17, 2023	SYSTEM	(\$192,066.00)	
					5	May 2, 2023	SYSTEM	\$192,066.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user granaj1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
						May 2, 2023	SYSTEM	(\$192,066.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
			Overrun	Overrun 3		Apr 3, 2023	SYSTEM	(\$25,168.50)	
				Overrun - Total				(\$25,168.50)	
			Overrun - Total					(\$25,168.50)	
5	5101 - Total							(\$25,168.50)	
J9P3435 - To	- Total							(\$25,168.50)	
J9P3564 03	0350	MISC. SHAPING SLOPES		faterial		Apr 3, 2023	SYSTEM	\$1,440.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user granaj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					3	Apr 3, 2023	SYSTEM	(\$1,440.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
			Overrun	Overrun	5	May 2, 2023	SYSTEM	\$720.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user granaj1 overridding Payment Estimate Exception 7 on the current Payment Estimate.



## Line Item Adjustments by Estimate

Contract ID: 220520-H03

	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J9P3564	0350	MISC. SHAPING SLOPES	Overrun	Overrun	5	May 2, 2023	SYSTEM	(\$720.00)	
				Overrun - Total				\$0.00	
			Overrun - T	otal				\$0.00	
	0350 -	· Total						\$0.00	
	0430	FURN & PLACE CONC MATL FOR FULL DEPTH	Material		5	May 2, 2023	SYSTEM	\$45,430.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user granaj1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					5	May 2, 2023	SYSTEM	(\$45,430.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0430 -	· Total						\$0.00	
	0470	CONSTRUCTION SIGNS	Material		1	Mar 3, 2023	SYSTEM	\$936.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user granaj1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					1	Mar 3, 2023	SYSTEM	(\$936.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0470 -	Total							
		· I Otal						\$0.00	
	5201	MGS GUARDRAIL, 8 FT. POSTS, 6 FT.	Material		5	May 2, 2023	SYSTEM	\$0.00 \$139,230.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user granaj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
		MGS GUARDRAIL, 8	Material		5		SYSTEM SYSTEM		Estimate Item Adjustment (0007) due to user granaj1 overridding Payment
		MGS GUARDRAIL, 8 FT. POSTS, 6 FT.	Material	- Total		2023 May 2,		\$139,230.00	Estimate Item Adjustment (0007) due to user granaj1 overridding Payment
		MGS GUARDRAIL, 8 FT. POSTS, 6 FT.	Material - To			2023 May 2,		\$139,230.00 (\$139,230.00)	Estimate Item Adjustment (0007) due to user granaj1 overridding Payment
		MGS GUARDRAIL, 8 FT. POSTS, 6 FT.			5	2023 May 2,		\$139,230.00 (\$139,230.00) \$0.00	Estimate Item Adjustment (0007) due to user granaj1 overridding Payment
		MGS GUARDRAIL, 8 FT. POSTS, 6 FT.	Material - To	otal	5	2023 May 2, 2023	SYSTEM	\$139,230.00 (\$139,230.00) \$0.00	Estimate Item Adjustment (0007) due to user granaj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user granaj1 overridding Payment
		MGS GUARDRAIL, 8 FT. POSTS, 6 FT.	Material - To	otal	5	2023 May 2, 2023 Apr 18, 2023	SYSTEM	\$139,230.00 (\$139,230.00) \$0.00 \$5,355.00	Estimate Item Adjustment (0007) due to user granaj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user granaj1 overridding Payment
		MGS GUARDRAIL, 8 FT. POSTS, 6 FT.	Material - To	otal	4	2023 May 2, 2023 Apr 18, 2023 Apr 17, 2023 May 2,	SYSTEM SYSTEM	\$139,230.00 (\$139,230.00) \$0.00 \$5,355.00 (\$5,355.00)	Estimate Item Adjustment (0007) due to user granaj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user granaj1 overridding Payment Estimate Exception 9 on the current Payment Estimate.  Averaged Price Adjustment from this item on all previous payment estimates
		MGS GUARDRAIL, 8 FT. POSTS, 6 FT.	Material - To	otal	5 4 4 5 5	2023 May 2, 2023 Apr 18, 2023 Apr 17, 2023 May 2, 2023	SYSTEM SYSTEM SYSTEM	\$139,230.00 (\$139,230.00) \$0.00 \$5,355.00 (\$5,355.00)	Estimate Item Adjustment (0007) due to user granaj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user granaj1 overridding Payment Estimate Exception 9 on the current Payment Estimate.  Averaged Price Adjustment from this item on all previous payment estimates
		MGS GUARDRAIL, 8 FT. POSTS, 6 FT.	Material - To	Overrun - To	5 4 4 5 5	2023 May 2, 2023 Apr 18, 2023 Apr 17, 2023 May 2, 2023	SYSTEM SYSTEM SYSTEM	\$139,230.00 (\$139,230.00) \$0.00 \$5,355.00 (\$5,355.00) (\$5,355.00)	Estimate Item Adjustment (0007) due to user granaj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user granaj1 overridding Payment Estimate Exception 9 on the current Payment Estimate.  Averaged Price Adjustment from this item on all previous payment estimates
		MGS GUARDRAIL, 8 FT. POSTS, 6 FT. - 3 IN	Material - To Overrun	Overrun - To	5 4 4 5 5	2023 May 2, 2023 Apr 18, 2023 Apr 17, 2023 May 2, 2023	SYSTEM SYSTEM SYSTEM	\$139,230.00 (\$139,230.00) \$0.00 \$5,355.00 (\$5,355.00) (\$5,355.00) (\$10,710.00)	Estimate Item Adjustment (0007) due to user granaj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user granaj1 overridding Payment Estimate Exception 9 on the current Payment Estimate.  Averaged Price Adjustment from this item on all previous payment estimates
	5201	MGS GUARDRAIL, 8 FT. POSTS, 6 FT. - 3 IN	Material - To Overrun	Overrun - To	5 4 4 5 5	2023 May 2, 2023 Apr 18, 2023 Apr 17, 2023 May 2, 2023	SYSTEM SYSTEM SYSTEM	\$139,230.00 (\$139,230.00) \$0.00 \$5,355.00 (\$5,355.00) (\$5,355.00) (\$10,710.00) (\$16,065.00)	Estimate Item Adjustment (0007) due to user granaj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user granaj1 overridding Payment Estimate Exception 9 on the current Payment Estimate.  Averaged Price Adjustment from this item on all previous payment estimates

## MoDOT

## Contract Adjustments for Contract - 220520-H03

There are no contract adjustments to display for this contract.

Revision 3/23/2023 Page 12 of 12